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Solve the missing elements for each problem. Use 3.14 for rv.
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Solve the missing elements for each problem. Use 3.14 for rv.

(0]

2) 3)

-
N
z o
CD
]
=
>
o\y |
w

Radius: 5 cm Radius: 6 mm Radius: 12 cm
Diameter: 10 cm Diameter: 12 mm Diameter: 24 cm
Circumference: 31.4 cm Circumference: 37.68  mm Circumference: 75.36  cm
Area: 78.5 cm Area: 113.04 mm Area: 45216 _cm
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Radius: 11 mm Radius: 10 cm Radius: 17 mm
Diameter: 22 mm Diameter: 20 cm Diameter: 34 mm
Circumference: 69.08 mm Circumference: 62.8 cm Circumference: 106.76  mm
Area: 379.94 mm Area: 314 cm Area: 907.46 mm
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Radius: 2 cm Radius: 18 mm Radius: 7 cm
Diameter: 4 cm Diameter: 36 mm Diameter: 14 cm
Circumference: 12.56 cm Circumference: 113.04 mm Circumference: 43.96 cm
Area: 12.56 cm Area: 1017.36 mm Area: 153.86 cm
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